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①　（x＋3）（x＋4） ②　（x＋2）（x＋9）

③　（x－6）（x－5）

⑦　（x＋3y）（x－6y）

④　（x＋4）（x－7）

⑧　（5x＋ y）（5x－3y）

⑤　（ x－ 
2
3

 ）（ x－ 
3
4

 ） ⑥　（x－0 .2）（x＋0 .8）
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①　（x＋9）2

③　（3x＋5y）2

②　（2x－7）2

④　（ x－ 
2
3 y ）

2

①　（x＋7）（x－7）

③　（7x＋2y）（7x－2y）

②　（x＋9y）（x－9y）

④　（ x＋ 
3
5 y ）（ x－ 

3
5 y ）

①　（－ x－5）2

③　（－ x＋10）（－ x－10）

②　（－4a＋5b）2

④　（9y－2x）（－2x－9y）

５点×４

①

②

④

③

５点×４

①

②

④

③

５点×４

①

②

④

③

５点×８

①

②

③

④

⑤

⑥

⑦

⑧

＝ x 2＋（3＋4）x＋3×4

＝ x 2＋（－6－5）x＋（－6）×（－5）

＝ x 2＋（3y－6y）x＋3y×（－6y）

＝ x 2＋2× x×9＋9 2

＝ x 2－7 2

＝（－ x）2－2×（－ x）×5＋5 2

＝（－ x）2－10 2

＝（7x）2－（2y）2

＝（3x）2＋2×3x×5y＋（5y）2

x 2＋7x＋12
＝ x 2＋（2＋9）x＋2×9

＝ x 2＋（4－7）x＋4×（－7）

＝ x 2＋（－0 .2＋0 .8）x＋（－0 .2）×0 .8

＝（5x）2＋（y－3y）×5x＋ y×（－3y）

＝（2x）2－2×2x×7＋7 2

＝ x 2－（9y）2

＝（－4a）2＋2×（－4a）×5b＋（5b）2

＝（－2x＋9y）（－2x−9y）
＝（－2x）2－（9y）2

＝ x 2－（ 
3
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y ）
2
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 ）

x 2＋11x＋18

x 2－11x＋30

x 2－3x－28

x 2＋0 .6x－0 .16

x 2＋18x＋81

4x 2－28x＋49

9x 2＋30x y＋25y 2

x 2－49

x 2－81y 2

49x 2－4y 2

x 2＋10x＋25

16a 2－40ab＋25b 2

x 2－100

4x 2－81y 2

x 2－3xy－18y 2

25x 2－10x y－3y 2


